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Question 1
Question Type: MultipleChoice

Refer to the exhibit.

What is the result when a technician adds the monitor session 1 destination remote vlan 233 command?

Options: 
A) The RSPAN VLAN is replaced by VLAN 223.

B) RSPAN traffic is sent to VLANs 222 and 223.

C) An error is flagged for configuring two destinations.

D) RSPAN traffic is split between VLANs 222 and 223.



Answer: 
A

Question 2
Question Type: MultipleChoice

What are two device roles in Cisco SD-Access fabric? (Choose two.)

Options: 
A) core switch

B) vBond controller

C) edge node

D) access switch

E) border node

Answer: 
C, E



Explanation: 
There are five basic device roles in the fabric overlay:

+ Control plane node: This node contains the settings, protocols, and mapping tables to

provide the endpoint-to-location (EID-to-RLOC) mapping system for the fabric overlay.

+ Fabric border node: This fabric device (for example, core layer device) connects external

Layer 3 networks to the SDA fabric.

+ Fabric edge node: This fabric device (for example, access or distribution layer device)

connects wired endpoints to the SDA fabric.

+ Fabric WLAN controller (WLC): This fabric device connects APs and wireless endpoints to

the SDA fabric.

+ Intermediate nodes: These are intermediate routers or extended switches that do not

provide any sort of SD-Access fabric role other than underlay services.



Question 3



Question Type: MultipleChoice

Refer to the exhibit.

What is the JSON syntax that is formed the data?

Options: 
A) Name: Bob, Johnson, Age: 76, Alive: true, Favourite Foods. [Cereal, ''Mustard'', ''Onions}}

B) Name', 'Bob Johnson,' 'Age', 76, 'Alive', true, 'favourite Foods' 'Cereal Mustard', 'Onions'}

C) {''Name'':''Bob Johnson'',''age'':76,''alive'':true,''favorite

foods'':[''Cereal'',''Mustard'',''Onions'']}correct

D) Name'', ''Bob Johnson'', ''Age'', 76, ''Alive'', true, ''favourite Foods'', [''Cereal, ''Mustard'', Onions''}}

E) Name'', ''Bob Johnson'', ''Age'': Seventysix, ''Alive'' true, ''favourite Foods'' ,[Cereal'' ''Mustard'' ''Onions''}}



Answer: 
C

Explanation: 
JSON data is written as name/value pairs.

A name/value pair consists of a field name (in double quotes), followed by a colon, followed by a

value:

''name'':''Mark''

JSON can use arrays. Array values must be of type string, number, object, array, boolean or null.

For example:

{

''name'':''John'',

''age'':30,

''alive'':true,

''cars'':[ ''Ford'', ''BMW'', ''Fiat'' ]

}



Question 4
Question Type: MultipleChoice

Which statement about Cisco EAP-FAST is true?

Options: 
A) It does not require a RADIUS server certificate.

B) It requires a client certificate.

C) It is an IETF standard.

D) It operates in transparent mode.

Answer: 
D

Explanation: 



The Cisco switch was configured with PAgP, which is a Cisco proprietary protocol so non-Cisco

switch could not communicate.

Question 5
Question Type: DragDrop

Drag and Drop the decryptions from the left onto the routing protocol they describe on the right.

Answer: 

Question 6
Question Type: MultipleChoice

Company policy restricts VLAN 10 to be allowed only on SW1 and SW2. All other VLANs can be on all three switches. An administrator

has noticed that VLAN 10 has propagated to SW3. Which configuration corrects the issue?



A)

B)

C)

D)

Options: 
A) Option A



B) Option B

C) Option C

D) Option D

Answer: 
C

Question 7
Question Type: MultipleChoice

Which tunneling technique is used when designing a Cisco SD-Access fabric data plane?

Options: 
A) LISP

B) VRF Lite

C) VRF

D) VXLAN



Answer: 
D

Question 8
Question Type: MultipleChoice

An engineer is configuring GigabitEthernet1/0/0 for VRRP. When the router has the highest priority In group 5, It must assume the

master role. Which command set should the engineer add to the configuration to accomplish this task?



Options: 
A) Option A

B) Option B

C) Option C

D) Option D

Answer: 
B

Question 9
Question Type: MultipleChoice

An engineer uses the Design workflow to create a new network infrastructure in Cisco DNA Center. How is the physical network device

hierarchy structured?

Options: 



A) by location

B) by role

C) by organization

D) by hostname naming convention

Answer: 
A

Explanation: 

You can create a network hierarchy that represents your network's geographical locations. Your network hierarchy can contain sites,

which in turn contain buildings and areas. You can create site and building IDs to easily identify where to apply design settings or

configurations later.
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